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Task 3. Lunch Time Snacks Task

Andrew High School sells snacks at lunch time. The table below gives different amounts of
snacks and the corresponding prices:

Number of Snacks (x) fotal C(?:t dc:)fllirnsa)cks )
4 5.00
7.50
10 12.50

Angela uses the information in the table to create the equations y = 1.25x and x = 0.8y.

a. Explain how Angela used data in the table to determine the values 1.25 and 0.8.

N
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b.

C.

Explain what the values 1.25 and 0.8 mean in the context of the problem.

Y

Do Angela’s equations represent the same proportional relationship? Why or why not?
Use words and equations, tables, or graphs to justify your response.

s
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3. Lunch Time Snacks Task Scoring Guide

The CCSS for Mathematical Content (3 points)

7.RP.A.2x Represents the relationship between the quantities in any of the following ways:
e drawing diagrams and partitioning.

e dividing corresponding values from the table, e.g., cost in dollars by
number of snacks and number of snacks by cost in dollars, to determine
unit rate.

e scaling the ratio “cost in dollars : number of snacks” in tabular form up or
down using multiplication.

e scaling the ratio “cost in dollars : number of snacks” up or down in

. ] 4 snacks 2 snacks 1snack
fraction form; e.g., = =

$5 $2.50  $1.25
4 snacks 0.8 snack

$5 $1

and/or

e multiplying, e.g., 4 snacks by % and $5.00 by %

(1 Point)
7.RP.A.2b Explains the meaning of the constant of proportionality as $1.25 per snack and
0.8 snacks per dollar.
(1 Point)
7.RP.A.2z Determines that the two equations represent the same proportional relationship
in any of the following ways:
e graphing both equations and confirming that they create the same line.

e substituting at least two (x, y) pairs from the table into each equation and
confirming that both equations can be used to represent the proportional
relationship present in the table.

e rewriting one equation using algebraic manipulation to show that it is
equivalent to the other.

(1 Point)

Total Content Points
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The CCSS for Mathematical Practice (1 point)

MP7 Specifically indicates in the work that the student understands unit rate, the
multiplicative relationship that underlies proportional relationships, and the
role of unit rate in the equation.

(1 Point)

(MP7: Look for and make use of structure.)

Total Practice Points

Total Awarded Points
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The CCSS for Mathematical Content Addressed in This Task

Analyze proportional relationships and use them to solve real-world and mathematical
problems.

7.RP.A.2 Recognize and represent proportional relationships between quantities.

7.RP.A.2b Identify the constant of proportionality (unit rate) in tables, graphs, equations, diagrams, and
verbal descriptions of proportional relationships.

The CCSS for Mathematical Practice*

7. Look for and make use of structure.

*Gray text indicates Mathematical Practices that are not addressed in this task.

Students’ responses to a mathematical task provide evidence of what they understand and are able to
do in relation to the standards and practices. Across tasks, this cumulative evidence shows students’
understanding and abilities within a domain. When students do not respond completely to all parts of a
task, they provide insufficient evidence of their mathematical understanding and abilities and therefore
do not fully demonstrate the expectations of the standards and practices aligned with that task.
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c. . DoAngela’s equations represent the same proportional relationship? Why or why not?
Use words and eq'uatio_ns, tables, or graphs to justify your response.
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Anchor 1 Litho 784813
Total Content Points: 3 (7.RP.A.2x, 7.RP.A.2b, 7.RP.A .27)
Total Practice Points: 1 (MP7)

The student shows how the values 1.25 and 0.8 were determined in Part A by using all
the ordered pairs from the table to form appropriate ratios for each, and by explaining that
division was used (7.RP.A.2x). The student explains the meaning of each constant of
proportionality in the context of the problem in Part B by stating “1.25 is what you get if
you want the value of dollars by snacks and 0.8 is what you get if you want the value of
snacks by dollars” (7.RP.A.2b). The student determines that Angela’s two equations
represent the same proportional relationship by inserting each x and y value from the
table into each equation in Part C and getting the expected results (7.RP.A.2z). The
student indicates an understanding of the unit rate in Part A by determining both unit
rates, an understanding of the multiplicative relationship that underlies proportional
relationships in Part B by explaining that each snack costs $1.25 and each $1 spent is a
multiple of 0.8 snacks, and an understanding of the role of the unit rate in the equation in

Part C by correctly substituting each ordered pair from the table into each equation
(MP7).

Total Awarded Points: 4 out of 4
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A-2b

b. Explain what the values 1.25 and 0.8 r’nean' in the context of the problem.

c. Do Angela’s equations represent the same proportional relationship? Why or why not?
Use words and equations, tables, or graphs to justify your response. '
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Anchor 2 Litho 747366
Total Content Points: 3 (7.RP.A.2x, 7.RP.A.2b, 7.RP.A .27)
Total Practice Points: 1 (MP7)

The student shows how the values 1.25 and 0.8 were determined in Part A by using an
ordered pair from the table (4, 5.00) to form an appropriate ratio for each value
($5.00 +4=1.25; 4+5=0.8) (7.RP.A.2x). The student explains the meaning of each

constant of proportionality in the context of the problem in Part B by stating that 1.25 is
the amount of money needed for 1 snack, and 0.8 is the number of snacks per one dollar
(7.RP.A.2b). In Part C, the student determines that Angela’s two equations represent the
same proportional relationship by inserting two x and y ordered pair values from the
table, (6, 7.5) and (10, 12.50), into each equation (7.RP.A.2z). The student indicates an
understanding in Part A of the unit rate by determining both unit rates, an understanding
in Part B of the multiplicative relationship that underlies proportional relationships by
explaining that each snack costs $1.25 and each $1 spent is a multiple of 0.8 snacks, and
an understanding in Part C of the role of the unit rate in the equation by substituting
values into each equation (MP7).

Total Awarded Points: 4 out of 4
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* Task 3. Lunch Time Snackls:-Ta'sk

A-3a

- Andrew High School sells .sn'acks at lunch time. The table below gives different amqurits of |

snacks and the-corresponding prices:

Number of Snacks(ﬁc) o C(?r?fd‘;‘;gpsa;’ks »)
4 5.00
6 7.50
10 12.50

Angela uses the information in the table to create the equations y = 1.25x and x = 0.8y.

a. Explain how Angela used data in the table to determine the values 1.25 and 0.8.
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A-3b

©. b, Explain what "th:é values 1.25 and 0.8 méén in the context of the 'ﬁ'foblem
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c. Do Angela s equatlons represent the same proportlonal relatlonshlp'? Why or why not'? "
Use words and equattons taples, or graphs to justify your response.
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Anchor 3 Litho 746655
Total Content Points: 2 (7.RP.A.2x, 7.RP.A.2b)
Total Practice Points: 1 (MP7)

The student shows how the values 1.25 and 0.8 were determined in Part A by using the
ordered pair (4, 5.00) from the table to form an appropriate ratio for each value
(5+4=1.25;4+5=0.8) (7.RP.A.2x). In Part B, the student explains the meaning of
each constant of proportionality in the context of the problem by stating “1.25 is the cost
for one snack,” and “0.8 is the amount of snacks you can buy with one dollar”
(7.RP.A.2b). The student states that the two equations represent the same proportional
relationship, but does not use sound mathematical reasoning to justify the answer (“they

all have the same unit rate, é and you can find both the x and y by using these

equations”) (no credit for 7.RP.A.2z). The student indicates an understanding in Part A of
the unit rate by determining both unit rates, an understanding in Part B of the
multiplicative relationship that underlies proportional relationships by explaining that
each snack costs $1.25 and each $1 spent is a multiple of 0.8 snacks, and an
understanding in Part C of the role of the unit rate for one equation (1.25x = y) by
substituting values into the equation (MP7).

Total Awarded Points: 3 out of 4
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| Task 3. Lu_'n;:_h_?'l'ime Snacks Task

A-4a

* Andrew High School sells snacks at lunch time. The table below gives different amounts of

'snacks and the corresponding prices:

Angela uses the information in the table to create the equations y.= 1.25x and x = 0.8y.

a.  Explain how Angela used data in the table to determine the values 1.25 and 0.8.
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A-4b

b. Explain what the va[ues 1 25 and 0.8 mean in the context of the problem
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Use words and equatlons tables or graphs to justlfy your response:
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Anchor 4 Litho 744371
Total Content Points: 2 (7.RP.A.2x, 7.RP.A.2z)
Total Practice Points: 1 (MP7)

The student shows how the values 1.25 and 0.8 were determined in Part A by using the
ordered pair (4, 5.00) from the table to form an appropriate ratio for each value
(5+4=9%1.25;,4+5=0.8) (7.RP.A.2x). Although in Part B the student does explain the
meaning of the constant of proportionality for 1.25 (“$1.25 is cost of one snack™), the
meaning of 0.8 (“0.8 is what you multiply with y to get x”) is not correct (no credit

for 7.RP.A.2b). The student determines that Angela’s two equations represent the same
proportional relationship by inserting each x and y value from the table into each equation
in tabular form in Part C (7.RP.A.2z). The student indicates an understanding in Part A of
the unit rate by determining both unit rates, an understanding in Part B of the
multiplicative relationship that underlies proportional relationships by explaining that one
snack costs $1.25, and an understanding in Part C of the role of the unit rate by
substituting all values from the table into each equation (MP7).

Total Awarded Points: 3 out of 4
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' :Task 3. Lunch Tlme Snacks Task
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~ " Angela uses the information in the table to create the equations y = 1.25x and x =0.8y.

a . Explain how Angeta used data in the table to determine the vai_lu:é_si._"i 25 and 0.8.
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b. Explain what the values 1.25 and 0.8 mean in the context of the problem.
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c. Do 'Ang'ela's equations represent the same proportional relationship?- Why or why not?
Use words and equations, tables, or graphs to justify your response. '
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Anchor 5 Litho 759897
Total Content Points: 1 (7.RP.A.2x)
Total Practice Points: 1 (MP7)

The student shows how the values 1.25 and 0.8 were determined in Part A by using the

ordered pair (4, 5.00) from the table to find the appropriate value % =1.25, and by

using the ordered pair (6, 7.50) to find % =0.8 (7.RP.A.2x). Although in Part B the

student does explain the correct meaning of the constant of proportionality for 1.25
(“1.25 = the price, in dollars, per snack™), the explanation for 0.8 is incorrect (“.8 = the
percent of snacks to the total cost”) (no credit for 7.RP.A.2b). The student forms ratios to
determine points already in the table, but does not substitute the points in each equation
to verify that Angela’s two equations represent the same proportional relationship

(no credit for 7.RP.A.2z). The student indicates an understanding in Part A of the unit
rate by determining the cost per snack, an understanding in Part B of the multiplicative
relationship that underlies proportional relationships by explaining that each snack costs
$1.25, and an understanding in Part B of the role of the unit rate by using it in the
equation (10 x 1.25 =12.50) (MP7).

Total Awarded Points: 2 out of 4
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TaSk 3. Lunch Time Snaéks Task

Andrew High School sells snacks at lunch t|me ‘The table below gives different amounts. of
snacks and the corresponding prices: : ' L

Number of Snacks (X} 3.._}I°_ta' C(?ﬁtd%i’gga)&so/)
4 5.00
6 7.50
10 | 12.50

Angela uses the information in the table to create the equations y = 1.25x and x = 0.8y.

a. Explain how Angela used data in the table to determine the values 1.25 and 0.8.
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A-6b

b. Explam what the values 1 25 and 0. 8 mean |n the context of the prob1em '
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c. Db'An.gela s equations represent the same proportional rélationship’? Why or why not?

Use words and equations, tabtes or graphs to justify your response
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Anchor 6 Litho 747320
Total Content Points: 2 (7.RP.A.2x, 7.RP.A.27)
Total Practice Points: 0

The student shows how the values 1.25 and 0.8 were determined in Part A by solving
expressions (“5.00 + 4, which equals 1.25” and “4 + 5.00, which equals 0.8”)
(7.RP.A.2x). The student does not give a correct meaning of the constant of
proportionality in Part B for 1.25 or 0.8 (no credit for 7.RP.A.2b). By using two ordered
pairs from the table, (4, 5.00) and (6, 7.50), to verify that the equations in tabular form
give the expected results in Part C, the student determines that Angela’s two equations
represent the same proportional relationship (7.RP.A.2z). The student indicates an
understanding in Part A of the unit rate by determining both unit rates, and an
understanding in Part C of the role of the unit rate by using it in the tabular form
equations. However, the student does not indicate an understanding of the multiplicative
relationship in Part B, giving insufficient explanations for both 1.25 and 0.8 (no credit
for MP7).

Total Awarded Points: 2 out of 4
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Task 3. Lunch Time Snacks Task

Andrew High School sells snacks at lunch time. The table below gives different amounts of
snacks and the corresponding prices:

Total:GostoRSnAtks y):

Number of Snacks (x) TSRS
4 5.00
6 7.50
10 12.50

Angela uses the information in the table to create the equations y = 1.25x and x = 0.8y.

a. Explain how Angela used data in the table to determine the values 1.25 and 0.8.
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A-7b

'b.. Explain what the values 1 25 and 0.8 mean in the context of the problem.
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¢. Do Angela’s equations represent the same proportional relationshri”p? Why or why not?
Use words and equations, tables, or graphs to justify your. response.
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Anchor 7 Litho 749719
Total Content Points: 1 (7.RP.A.2b)
Total Practice Points: 1 (MP7)

By only using the equations to verify that 1.25 and 0.8 work for the ordered pair (4, 5.00),
the student does not adequately show how the values 1.25 and 0.8 are determined in Part
A (no credit for 7.RP.A.2x). The student does explain in Part B the correct meaning of
the constant of proportionality for 1.25 (“$1.25 per snack™) and for 0.8 (“0.8 snacks per
dollar”) (7.RP.A.2b). The student does not determine that Angela’s two equations
represent the same proportional relationship in Part C (no credit for 7.RP.A.2z). The
student indicates an understanding in Part A of the unit rate by verifying both equations
yield correct results for a given ordered pair, an understanding in Part B of the
multiplicative relationship that underlies proportional relationships by explaining that
each snack costs $1.25 and each $1 buys 0.8 snacks, and an understanding in Part B of
the role of the unit rate by giving an example equation (0.8 x $7.50 = 6 snacks) (MP7).

Total Awarded Points: 2 out of 4
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Task 3. Lunch Time Snacks Task

Andrew High School sells snacks at lunch time. The table below gives different amounts of
snacks and the corresponding prices:

Nurmber of Snacks (x)- “Total Cffta%%?sms o)
4 5.00
6 o 7.50
10 | 12.50

Angela uses the information in the table to create the equations y = 1.25x and x = 0.8y.

a. Explain how Angela used data in the table to determine the values 1.25 and 0.8,
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b. Explain what the values 1.25 and 0.8 mean in the context of the prdb[em.
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c. Do Angela’s equations represent the same proportional relationship? Why or why not?
Use words and equations, tables or graphs to justify your response.
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Anchor 8 Litho 755471
Total Content Points: 1 (7.RP.A.2x)
Total Practice Points: 0

The student shows how the values 1.25 and 0.8 were determined in Part A by using all
the ordered pairs from the table to form appropriate ratios for each (7.RP.A.2x). In

Part B, the student does not explain the specific meaning for the context of the constant
of proportionality for 1.25 (“1.25 is the percentage that y is of x”) or 0.8 (“0.8 is the
percentage that x is of ) (no credit for 7.RP.A.2b). The student does not employ any
method of verifying Angela’s two equations to determine that they represent the same
proportional relationship in Part C (no credit for 7.RP.A.2z). Although the student
indicates in Part A an understanding of the unit rate by determining both 1.25 and 0.8, an
understanding in Part B of the multiplicative relationship that underlies proportional
relationships is not shown, nor is an understanding of the role of the unit rate
demonstrated in Part C because the equations are not verified (no credit for MP7).

Total Awarded Points: 1 out of 4
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Task 3. Lunch Time Snacks Task

- A-9a

Andrew High School sells snacks at lunch time. The table below gives different amounts of e

snacks and the corresponding prices:

Numbero f Snacks (x) Total Cost of Snacks (y)

. (indollars)
4 5.00
6 7.50
10 12.50

Angela uses the information in the table to create the equations y = 1.25x and x = 0.8y.

a. Explain how Angela used data in the table to determine the values 1.25 and 0.8,
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Anchor 9 Litho 759242
Total Content Points: 1 (7.RP.A.27)
Total Practice Points: 0

The student does not show how the values 1.25 and 0.8 were determined in Part A; the
ordered pair (4, 5.00) is used only to verify that these values work for the equations

(no credit for 7.RP.A.2x). The student does not explain the correct meaning of the
constant of proportionality in Part B for 1.25 or 0.8 (no credit for 7.RP.A.2b). The student
does determine that Angela’s two equations represent the same proportional relationship
by inserting each x and y value from the table into each equation in Part C and getting the
expected results (7.RP.A.2z). Although the student does show an understanding of the
role of the unit rate by using it in the equations in Part C, an understanding of the unit rate
is not shown because it was not determined in Part A, nor was an understanding shown in
Part B of the multiplicative relationships that underlie proportional relationships because
no indication is given that 1.25 and 0.8 represent the cost per unit snack and number of
snacks per unit cost, respectively (no credit for MP7).

Total Awarded Points: 1 out of 4
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Andrew High School sells snacks at lunch time. The table below gives different amounts of
snacks and the corresponding prices: R R

Task 3. Luhch.-Time'Snacks Task

S Number of Snacks (X) : :TowivaIC(?r?tdC;[:;lsE;Cks )
4 5.00
6 7.50
10 12.50

Angela uses the information in the table to create the equations y = 1.25x and x = 0.8y.

a. Explain how Angela used data in the table to determine the values 1.25 and 0.8.

3 The dodal cost o snacts
d:‘)rM Elj 'H'b /?W'b't/

Q-C:-L 0.4, ._‘

{.OO'/-q; 2S5

500K pr="H
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. b, Explaln what the values 1 .25 and 0.8 mean in the context of the problem

& /Z§ s Mu /)Mé'ff“mé‘e&o‘\

0\"*@«_ MG’ O g as '/\)7’\0\"{_
ou muH‘ﬂH +o ;Q,'{‘ Coch
Msude/rex

lzgw\ '30
goaxoy 2

¢. DoAngela’s equatlons represent the same proportional relatlonshlp’? Why or why not’? :
Use words and equat[ons tables, or graphs to justify your response. - . '

"y V&S ‘)’6'7 do /@ﬂf&‘w@t 7%«-, %ma_.
fﬁfﬁf'?m s ks ecaw}e-» He .
n.L /‘o»‘Fe,sé/ aJ( dﬁé ﬂu—-fm 2 / ZS

‘k a 'za | ot
Y 1,25 "6" o0
& 1.2 2.5

o /! zs '\2«;’0
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Anchor 10 Litho 746824
Total Content Points: 0
Total Practice Points: 0

The student does show how the value 1.25 was determined in Part A by using the ordered
pair (4, 5.00) to form the ratio 5.00 + 4 = 1.25; however the explanation for how 0.8 was
formed is insufficient (5.00 % 0.8 = 4) (no credit for 7.RP.A.2x). The student does not
explain the correct meaning of the constant of proportionality in Part B for 1.25 (“1.25 is
the number of each one”) or 0.8 (“0.8 is what you multiply to get each [answer]”)

(no credit for 7.RP.A.2b). The student does conclude that Angela’s two equations
represent the same proportional relationship in Part C, but only supports this by stating
“the unit rate for all of them is 1.25” (no credit for 7.RP.A.2z). Although the student does
indicate some understanding of the unit rate by determining 1.25 in Part A, no
understanding of the multiplicative relationship is given in Part B because 1.25 (“the
number of each one”) is not explained as the cost per unit snack, and 0.8 (“what you
multiply to get each”) is not explained as the number of snacks per dollar (no credit

for MP7).

Total Awarded Points: 0 out of 4
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